Ans.

Ans.

Ans.

Ans.

In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. I a sentence is
free from error, select ‘No Error’.

Her behaviour (1)/ around him (2)/
was a little oddly. (3)/ No error (4)

A. 1 B. 2
C. 3 D. 4
C

In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. If a sentence is
free from error, select ‘No Error’.

The more energy we give to a
particular thought (1)/, the greater is
its power to attract its corresponding
circumstance into (2)/ their physical
world through the law of

attraction. (3)/ No error (4)

A. 1 B. 2

C. 3 D. 4

C

In the following question, the

sentence given with blank to filled in
with an appropriate word. Select the
correct alternative out of the four and
indicate it by selective the
appropriate option.

I am tired this, Chandler

A. with B. over
C. of D. for

C

In the following question, the

sentence given with blank to be filled
in with an appropriate word. Select
the correct alternative out of the four
and indicate it by selecting the
appropriate option.
The main use of friendship is that it
man to express his feelings
and emotions.

A. enables
B. capables
C. stables

D. ables

A

In the following question, out of the
given four alternatives, select the

Ans.

Ans.

Ans.

Ans.

Ans.

10.

one which best expresses the
meaning of the given word.

Unruly

A. Cooperative
B. Disobedient
C. Compliant
D. Yielding

B

In the following question, out of the
given four alternatives, select the
one which best expresses the
meaning of the given word.

Ennul

A. Continuation
B. Boredom

(54 Anger

D. Strange

B

In the following question, out of the
given four alternative, select the one
which is opposite in meaning of the
given word.

Temporal

A. Material

B. Fleshly

C. Earthly

D. Spiritual

D

In the following question, out of the
given four alternatives, select the
one which is opposite in meaning of
the given word.

Capacious

A. Cramped

B. Broad

C. Comfortable
D. Generous

A

Rearrange the parts of the sentence
in correct order.
In order to tone up

P : it should be

Q : the physical education
programme,

R : reoriented and implemented
A. PQR B. RQP
C PRQ D. QPR
D

A sentence has been given in
Active/Passive Voice. Out of four
given alternatives, select the one
which best express the same
sentence in passive/Active Voice.



Ans.

11.

Ans.

12.

Ans.

13.

Ans.

My sister will write an application

A. An application would be
wrote by my sister.

B. An application will be wrote
by my sister

C. An application will be written
by my sister.

D. An application would written

by my sister.
D
A sentence has been given in
Direct/Indirect Speech. Out of the
four given alternatives, select the
one which best expresses the same
sentence in Indirect/Direct Speech.
Rita said, “Alas! I am undone.”

A. Rita said that she was
undone.

B. Rita told me that she was
undone.

C. Rita exclaimed sadly that she
was undone.

D. Rita said that alas, she was
undone.

C

In the following question, a word has
been written in four different ways
out of which only one is correctly
spelt. Select the correctly spelt word.
A. Mellnia

B. Millennia
C. Millenia

D. Meilenia
B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
One who has witnessed a debate
argument between two men
strong intellectually,
one of whom is a trained logician and
the other lacking this advantage, will
never forget the impression produced
him by the unequal
struggle. The conflict is like that of a
wrestler, untrained in
the little tricks and turns of the
science, in the various principles of
applying force in a certain way at a
certain time, at a certain place, with
a and experienced
wrestler.
witnessed a
argument between

debate

A. of B. or
C. but D. So
B

14,

Ans,
1.

Ans.
16.

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
One who has witnessed a debate
argument between two men
strong intellectually,
one of whom is a trained logician and
the other lacking this advantage, will
never forget the impression produced
him by the unequal
struggle. The conflict is like that of a
wrestler, untrained in
the little tricks and turns of the
science, in the various principles of
applying force in a certain way at a
certain time, at a certain place, with

a and experienced
wrestler.

two men strong
intellectually,

A. equal

B. equality

€ equals

D. equally

D

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
One who has witnessed a debate
argument between two men
strong intellectually,
one of whom is a trained logician and
the other lacking this advantage, will
never forget the impression produced
him by the unequal
struggle. The conflict is like that of a
wrestler, untrained in
the little tricks and turns of the
science, in the various principles of
applying force in a certain way at a
certain time, at a certain place, with

a and experienced
wrestler.

impression produced him
by the unequal

A. upon B. up

C. in D. into

A

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
One who has witnessed a debate
argument between two men
strong intellectually,




Ans.
17.

Ans.
18.

Ans.
19.

one of whom is a trained logician and
the other lacking this advantage, will
never forget the impression produced
him by the unequal
struggle. The conflict is like that of a
wrestler, untrained in
the little tricks and turns of the
science, in the various principles of
applying force in a certain way at a
certain time, at a certain place, with
a and experienced
wrestler.
like that of a
wrestler, untrained

A. Powerful
B. Power

Ce Powerfully
D. Powering
A

In the following passage, some of
the words have been left out. Read
the passage carefully and select the
correct answer for the given blank
out of the four alternatives.
One who has witnessed a debate
argument between two men
strong intellectually,
one of whom is a trained logician and
the other lacking this advantage, will
never forget the impression produced
him by the unequal
struggle. The conflict is like that of a
wrestler, untrained in
the little tricks and turns of the
science, in the various principles of
applying force in a certain way at a
certain time, at a certain place, with
a and experienced
wrestler.
certain place, with a

and experienced wrestler
A. trained

B. train

C. training

D. trains

A

In the following question, out of the
four alternatives, select the
alternative which best expresses the
meaning of the idiom/phrase.

Be on the air

A. Broadcast over the radio or
on TV.

B. Float like a bird.

C. To pass bodily gases.

D. Be very arrogant.

A

In the following question, out of the
four alternatives, select the

Ans.
20.

Ans.
21.

Ans.
22.

Ans.
123.

alternative which best expresses the

meaning of the idiom/phrase.

A diamond in the rough

A. Someone or something with
potential or talent but lacking
training or polish:

B. A person who dresses
shabbily

C. A diamond will shine out
even w hen it is not polished.

D. A person of character will
shine through even in tough
times.

A

In the following question, out of the
four alternatives, select the
alternative which is the best
substitute of the words/sentence.

An opinion or conclusion formed on
the basis of incomplete information
A. Proof

B. Conjecture
C. Clincher
D. Averment
B

In the following question, out of the
four alternatives, select the
alternative which is the best
substitute of the words/sentence.

Protection or exemption from
something, especially an obligation or

penalty

A. Castigation
B. Immunity
C. Penance

D. Ostracism
B

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

I (has been) fortunate to travel with
interesting co-passengers.

A. have been

B. have being

C. has being

D. no improvement
A

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

A bed sheet hung on the doorway
sufficed till the doors (is finally
installed).

A. Was finally installed



Ans.

24,

Ans,

25.

Ans.,

26.

Ans.

27.

Ans.

28.

Ans.

29.

Ans.

B Were finally installed
C. Were finally install
D. no improvement

B
The question below consists of a set
of labelled sentences. Out of the four
options given, select the most logical
order of the sentences to form a
coherent paragraph.

Everyone around

A-stood as a mis fit among them
B-me turned out to be

C-an early-riser and 1

A. BAC B. CBA
C. CAB D. ACB
A

In the following question, four words
are given out of which one word is
correctly spelt. Select the correctly

spelt word.

A. declination
B. declenation
C. declinasion
D. declenasion
A

AT usT & U I Apedr H 4
T s JIA H giAT).

Toh : dlgel::?:?

A EORSRIELD

B gssh : W
C el vigar
D EURC

D

ff@a e # U 7 [eeal & &
e & I98 F1 IAT|
446 : 443 : : 552 : ?

A. 445 B. 549
C. 543 D. 551
B

AeAfo@d I & U 7 Afeur & &
FHAT 3eT/3EeRT i gfav|
HER : SVI: : MET : ?

A. AVT B. RKG
C. NVG D. LVA
C

rafaf@a v & v 7 eredi & &
fawa e goa &1 giav

A efr-afercaen

B. TR

C. faeamdt-srearges
D SiTeaz-gei

D

230.

Ans,

31.

Ans.

32.

Ans.

33.

Ans.
234.

Ans.

35.

Ans.

A fow R e A, AR FEE geA
T El(-) F Tl 3R G wEAr () F g
3R & T e @ aw/fAan § st
gl O 3 e gHFAEHE & FUR
TA & BT T Reedt F F Bt

10-14
14-18
12-16
16-24

UPOW?%

[

%
H.
2
4
|
”

fawar 31eT/3eRT 1 g

A. CDFI
B. RSUX
C. JKMP
D. FGIM
D

frafaf@a el @t ersgepier # 3mat arer
A & AR ford]

1. Jumbo Jet 2. Juggling
3. Justice 4.Jewel

5. Jealous

A. 54213

B. 23415

C. 12345

D. 42315

A

afaf@a g & U 7 Qeul H &
dcd 3 AT FfSw.

5,9,13,17,21,?

A. 32 B. 26
C. 25 D. 29
C

T A fear g, A @t ue
T ¥ Ru @ Reedt & ¥ ¥ @@
e giAT, S 3gsha A Q@ R

XJ, WL, VN, UP, ?

A. TU B. TR
C. ST D. SuU
B

gt T Th GfFT A, TgeT F TUR &
R & 39-ar § dUT Ueho! & TAT T
DR ¥ 53-al g 3% TUET H WRER
Seolel & URECISA & T & BR
¥ 64-ar g ST g died H fRda asH

?
A. 118 B. 117
B 116 D. 120
C



36.

Ans,

37.

Ans.

38.

Ans,

39.

Ans.

40.

Ans.

41.

Ans.

42,

R T Rwedt & @ IF wsg gAw
QU = ereg & ERT 1 ST FE G
FATATST ThTl &

A. Ink B. Rain
C: Acting D. King
C

s fafdse #i omor #,, “PRANK” &
“RUESQ”. for@ STdr § 34 g HIWT
H “RATES” &I frd yaR for@r Srem?

A. XDTYF
B. ZFTDX
C. FDXTZ
D. TDXJY
D

frdy @ARTT w5 T 7, - 'x', @
el lar &, '+ '+' F YeRid #ldr §
V' ' ) gefia &ear § 3R X -
', & YR #ar g Feafaf@a war g

AFAfafd 92T &7 3O AT R
10+20x10+20-8 =7

A. 43 B. 9
C. 30 D. 8
D

farafaf@a  dHewor Ied B 39
AT B T WA F far Fa ar
fegt & 3@ A Aar-scel AT

arfgu?

16 +8-5x2+6=9
A. + and x

B. + and =+

C. - and +

D. +and x

A

afg 414 = 4, 1412 = 8 3R 10!18 =
14 @ 216 &7 AT AT |

A. 4 B. 8
C. 18 D. 12
A

fefaf@a & & #la @ 9q § ;=i
I & FHA & HJAR 87

BAAAAAA, AAAAAAB, ABAAAAA,
AAAAABA, AABAAAA, .
A. ABAAABA

B. AAAABAA

C. BAAAAAA

D. AAAAABA

A

T A4 &l dear A IR B & Sisdr g
Tg HEIT A  SIEAOT T % 37 Hiel
gl @ g g, T g IiREH HT R
Hqs S & 3R 3mWr 23 Ao dF FEdr

Ans.
43.

Ans.
44,

Ans.

STl &, R I8 3T &1 oS Hqsar ¢ 3N
3T 40 #er & g dh w8, T TE
39e erfget AR Az S & R 23 A
¥ YT e B aF Tgad & WX B F
HaY H AGT A FEl 872

A. 3 Hrer gfayor
B. 13 #Hrer gfayor
2} 3 #Hrel 3W
D. 13 Hrer 3
A

T H o YT Rr i § f5ad 3mr o
fasey | 3R I @Pesr = §] 3mIer
A ¥ R Qe FUT G § AR
HT: Ad awdl ¥ @BeT gl
3Rt AT e & fr Ru 3 fAsest
# ¥ Faaraa ¥ @RTa 7 F FuA
CanT Tl fAswer ST FhaT /S 8, TG
1S 8|

FUA 1: Y AGIST BT g1 &

FUAIL: T B Basw ga g

sy I: & B fBarsw aid §

ey | 1% o RBasa B 787 B &

A. Shaol oy | wET ¥

B. Haer foshy 11 TEY §

C. araAr sy | 3R i |@gr §

D. aoar s I @er g IR A
sy 11

A

frafof@d sl &, 3maa Sonferrt &
Yefld T & g e wHETR A
Fafid X &9, Feper g et
H YGRId #ar ¢ 3N a1 TR @t
Yefld Xl | &R & & § HAg
3 TR @ YelRid aRdr § S &er
et 3R SNfad et §?

A ECB B. AB
C. B D. BH
C



245.

Ans.

46.

Ans.

47.

Ans.

48.

Ans.

T IThA foar & SR @ vk U
gcd ¢ v & fashedt & & dg @y
fashed giAT, S Tha HT QW R
PEN,MBK,JYH,GVE,?

A. ESB B. DRC
C. DSB D. ERC
C

Aeff@d 92 & § U I AOpeur &
¥ qd Id AT dife.
101,97,93,89,?,81

A. 85 B. 84
C. 83 D. 86
A

fr G & gear &, e FEamsit & ar
g for ¥ B 9A% @A H @y
AT Ygell HEAT ¥ frd wh gw/faaa
¥ gFafad g die 3 TE dh/fAIH &
YR ) FAE g QU 7 fasvodt # @

et 1 gfav|.

A. (2,22,222)
B. (3,33,333)
C. (1,11,111)
D. (4,44,4444)
D

Ife T gdur @ MN 3@ 9 @M S ar
& Il 3R At A @ Fla-dr mHa
9o T 1 FEr gfdfaes gram?

N

49,

Ans,
50.

fAFfafad 3o amhfa & @ @l @ oo
Ru ¥ e mpfd & & g v @
FITAT AT ST FhdT?

X
.°o| O v | H
8

@,

o
RS
B
T A hadl HEAT HHAE canT gt
I g, S & feedt F ¥ R v A
fear mr g fOweui # R ™ dew-
A e & ar Jef ganr g W g,
Ster f& fQu Iy ar eyl # g 3egE-|
& Taw 3R d9fFa & F'r 0 ¥ 4 AR
3Megg-Il H1 5 & 9 §| oI 3Pl ¥ Th
AR & gl 3EH dfdd IR ag H
TAFH TEAT IR AT S FhaT g
3ee0T & fow ‘A @ 31 3R 23 fe
CART G2TAT ST Wehal § duT ‘P’ & ‘86,
97 g carT AT ST FHAT g AT
e & I3UA A H U wsg KILT
& fIT #Hg H ggHEe gl..

Matrix I

ARlWIN|HO

| x|lw|o|lT|o

—=|lr|lg|m|m~

M X|>IZ[MW

S>> IT|O|v -
“l0OwIi=+



Matrix II
5|16 |7 |89
52|V | Ql|Y]|X
6 | Y| U|W|V]|X
71V |z |T|V]|T
8| Y|P |R|W|W
9 | N|R|P|T]|X
A. 33,86,33,78
B. 14,58,22,56
G 30,42,32,77
D. 21,79,42,97
Ans. C
51. 30 HEAT &7 9dT @My it ¥R & fadelr
3if8® &, 3der & 95 | F
A. 23 B. 55
C. 72 D. 76
Ans. C
52. Jol o 39eT ddel HT 1/5 339 arear
W @Y fRar, @ W ddd & 1/10
g fRar 3R ada #1 1/4 dad W AW
fam 3PR 1800 % 3@WA 94 FEU H
oI5 U, ar ast 38 3w 3R sud
W Fel fohdar a3 fHar?
A. 1,200 &
B. 1,400 %
C. 1,600 ¥
D. 1,800 ¥
Ans. B
53. (2-2z+22)(2+2z- z2), &1 AL dd18T
S 7+2=2%?
A. 0 B. 2
. 4 D. 8
Ans. A
54. z=\/20+\/20+\/20+\/m HHIHOT A
‘2 AT da13U|
A. 4 B. 5
C. 20 D. 25
Ans, B
55. frelt foper &1 o3 & eFdad
ciaemereh o foig @ Iond §, 3@
__ @ @
A. qiehg B. Fshg
C. Fogh D. HaFg
Ans. A
56.  UH gAag S & 9Rg i FeAr 12

A & A FASTE BRfST i FAE (@A
) fuiRa it

Ans.

57.

Ans.

58.

Ans,

59.

Ans,

60.

Ans.

61.

Ans.

62.

Ans.

63.

A. 12 B. 14
C. 18 D. 20
C

e P=350drQ=600¢,aPQ YA

ERGIRIGHG T
A 41.66
B. 58.33
C. 71.42
D 35.33

> -

ar HeAst #r At 5 : 4 g Ife aa
T3t # Aer 180 § v AT TwATst
H @ SI8 &1 F1 82

A. 100 B. 80
C. 60 D. 75
B

P& 35000 ¥ fder sish Ush AW Y®
fRar T T a¥ geara Q, 21000 ¥ Hr
TR & AT 3qH 3 AT §] AR H
YRH gl & ar gy gard 3w¢ 26000 ¥
T A STecT G| A A p 1 foEH (3

#H) &1 grem?

A. 15000

B. 18000

C. 20000

D. 16000

C

I 31x + 31y = 403 &, af x AT y &
J\a F4r g2

A 3.5 B. 5
C. 6.5 D. 13
C

7500 & ueh AR & or & [anfaa
R 1T §| Uger HT W 12% Hr a1
& @ WIYROT ST GEY 19T 9 18%
a¥®s &7 & FURY AT & ST g
I HHET W U ay $r fov oarer (3 &

) 82

A. 600 B. 360
C. 480 D. 540
D

REIE e e T S B N ()
13924 T § dur oy yfard 18%.
| afe fasa Hed 10266 % &, dr gifal

gfaerd T grem?

A. 17.2 B. 13
C. 14.9 D. 11
B

U T doc W 45% & BT &t &
9eaTd 21% W1 FHHATT ARl & 39



Ans.

64.

Ans.

65.

Ans.

66.

Ans.,

67.

Ans.

39eAT aEJ F Hed P fohdal gfaerd 68.
i 3ifehcd ateT @Tfgw?

A. 75.45 B. 120

C. 102.5 D. 66

B

\/513+\/144+\/81—\/6_4 +? @

HIT FAT 87

A. 22 B. 21

C. 28 D. 19

A

ar A p dUT Q, UH TH FI HAA: 24
aur 18 §¢ H X ¥ahd o] IS el dal
& 11 gEgRuA) W e fGar am,
ar 8 2 qafe(V.uH) W R A QA
& T ad p & hder g9 3RIg(d.uH)

H 98 % ool aIfeu?

A. 5 B. 2

C. 3 D. 4

C

gie 3efer Afh.a/eer aifd @ wofar g, o Ans.
9 3O ReEed 6 e & & agaar 269

¢, Weq e ag 4 faA/ber & afq @
TAdT §, aF 98 FuiRa a7 ¥ 6 Aace
ggor qg*?r ST g 3EH W ¥ 3T
fae@rera & gt (f.#.) ar g2

A. 4 B. 3
G 6 D. 3.5
A

Ig Y@T ATH 3o1 BTAT I TEIT I G2ATdr
g o ven fafdre faeafacame & Rju =&
a¥ & Ay deFar & @y sl g
5 INW & I H 3R Feafafaa

EET] & 3R al
Students who passed with distinction/
= Ry Frraran & sl go o
7000 7000 6500
6500
6000
5000
4000
3500
3000
2500
2000 2000
500
1000
ad
201 012 2013 2014 2015 2016 2017 An s L]
Year /¥ | 70.

ﬁmaﬁﬁﬁﬁwm#m@m
T FH A?

A. 2012 B. 2014
C. 2013 D. 2015
C

g WT A6 37 Al H1 HEAT & AT
¢ Sl T fafdse favafdearey # v
af & R AeFar & @y A g g
3H 3@ & Heugd X AR fAefaf@a

SR F 3R al
Students who passed with distinction/
= frdhy A & sl gr o
7000 7000 6500
6500
6000
5000
4000
3500
3000
2500
2000 2000
500
1000
o
2011 2012 2013 2014 2015 2016 2017
Year/a%

a¥y 2017 3R 2014 & < Q@AY JeIar
%mﬁﬁgvam"r@rﬁwﬁw
3ax or?

A. 6000 B. 5000
C. 4000 D. 3000
D

Ig IWT AP 37 O 1 F&AT A g2lfar
¢ ot us faferse faeafacare # ffu i
af & R AeFar & @y SN0 g
3H INT F YIS Y IR ArAtar@d

gRaAT F I gl
Students who passed with distinction/
= frehy Fezran @ 3ol go s
7000 7000 6500
6500
6000
5000
4000
3500
3000
2500
2000 2000
500
1000
0
201 012 2013 2014 2015 2016 2017
Year/ %

2012ﬁ%awmma:m3-vﬁu‘r§u
oEr & gEar 2011 #H AT oEt @

a ifas o
A. 350% B. 100%
C. 200% D. 250%

D

Ig YWT TH 37 SET HI FEIT I ATar
¥ o v faRIse fAeafdegre & Ry
a§ # Ay FeFar & @y 3 ge §
3 IR@ & T H AR Aeafaf@d
R & 3R gl



Ans.

71.

Ans.

72.

Ans.

73.

Ans.

74.

Ans.

75.

Ans.

76.

Students who passed with distinction/ 1
o Ry A & sl ge oy

7000 2000 6500
6000 ‘
5000
4000 |
3500 [
3000 ‘
2000 4 2000 \
1000 ‘
|

500

0+
201 2012 201 2014 2015 2016 2017

Year /¢

m%@ﬁa\m%mm@mﬁ
F TFH gAY feImr Svar g ar e
AT ast #§ Ru ¥ yaAmoOEt & gEr

T 87

A. 16500
B. 15500
. 14500
D. 13500
B

TH IAT T ooars 3R Tlss Faer 24
. 3k 7 | g sua Qe (A

#H) & FFas FIT gre?

A. 50 B. 25

C. 28 D. 56

B

10.5 .. B=ar arer e aa $r aRfe
(T FH) T HY

A. 84 B. 35

C. 70 D. 66

D

42 . =g 3R 14 @ FaE g
TS g doled & Tdg P Fel &Thel
(@7 A A7) 1T HY

A. 3/2

B. 3/V 2

C. 2-V3

D. (2V3 -V6)/2V2
A

(2 - sin30°) & AT 4T § ?
A. 2+V3

B. (2V2+ 1)/V2
C. (3+V2)/3V2

D. 5/V3

C

APQR # Q W ®H®IUT §| I cosP =
5/13, d cosecR &I AT FIT §?

A. 13/5 B. 5/12
C. 5/13 D. 13/12
A

THATAY  HISHAEAT  (Flell  GeA) &I

3ifeaca |

Ans.

77.

Ans,

78.

Ans.

79,

Ans.

80.

Ans.

81.

Ans.

A. Idegarar & e gfawgt
AT &

B. A Afaat & FF  gard
AT &

C. I IR T dg” fAaRoer &
giafRad ar §

D. 3culeeh fAder # gefdr gARud
T ¢

B

WA gedt IR =A™ & @y

[ECar: & YHE 36aT 9|

A. GISTelT 37ahTer

B. Atefr gty Jrerer

C. AT Tt

D. giadr qaasiy Qreter

B

"UHS FU AEfai@d A @ R e

¥ ua g2

A qrer T

B ARATYT

C ardr

D CaRliP=c))

B

TEATT 3ealeled & F FHg db ToAr=T
AT AT?
A. 3T 1 920 & wadr 1922
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